EARAROBEEIERT — 2 N— IBISH —F

20195 1H8H (X) 13EIEHI3H

Kl C3—9 C3 #5%—## BRI R
[x&<£] 1 %:200,000  23#%:70,000 ™ ~ 33#%&:40,000 W . 43%:30,000H 5% :20,000 ™
B ®RBE RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
¥ - DU FA=EE 78 | LHNE 1:(2_6).4 9-8-65 (39.7| — | 3 | 490 Eﬁg (&%)
LN=VI714 B:F4799914—> (-6) #HBET7—L4
Mt :26. -0-0- 5 — KEEE B
olgly| 7Fvn—2— R i) ey | 2 e Y | =
N=RZIN> BRI RFTa2UT HE k&
_ . EEREE . 64— — NBEE (&H)
N . NETZEEIVE "4 S5 S AR "G | memE
LIVINATA—h— BAF/¥T39 ity FESA
- _ 4 3 | ElllEEA 1:27.0 5-3-3-4 | 40.9| — 2 498 | REEt (SH)
4|5|5|=vElT 0 2 1/2) (-3) | B
L:7UF—v B:X-T3I>b =Eicbae]
i # 4 | KiZSAEER 1:27.1 6-7-7-6 | 40.3| — 6 427 | MIIEE (BH)
5/2|9|7v=A 54.0 (7€) Ch |EEE
LNn—E>TYv— BNILITHINY KIEHS
>3 s 3 | BIIX 1:27.2 1-1-1-2 | 41.4| — 5 497 | FTBBR (&)
611 |FAIH>Iv7 54.0 (1/2) (13) | RARAE
L:Z3x—h77)ar B:XEZ—bkUiay +H #5
N ; it 4 | EFRNE) 1:28.5 4-4-5-7 | 42.1| — 10 | 458 |BAKKES (&)
71810 "7\7‘3'{2 54.0 (6) (42) j(mﬁ«;iqﬁz
L:7ROFTAL BieEY b= Y42 TT =) RS
.o 3 B : -10-9- — wEE (&
8 7| 7954 Tk # 6 ézi_i%?” 1.(380).2 10-10-9-8 | 42.7 9 | 4n g%mi (50
RTLSANE BT o4 TTY b 9 | s
_ . BALE . 5o _ HEEN (BH)
ol7lg|#65E 00— i 6 L 1.(361).4 3-5-8-9 | 44.1 7 ig)s xﬁ@%
LI NATA—H— B:FLTRAY— fREE  FnER
N > BEECEPEPED, O || b PS 1;(393).2 8-9-10-10 {458 — | 8 | 519 ﬁg?_%% (&)
R:nNd B:y—I TR 3| s
. . 4 | BAHD - - - - - — | BsfE— (FH)
xRl 3| 7H—"=Lv R e 54.0 () ) |mIME
LihNZ— BTAXR IpE &
@ 1 —F—EBIE
1d—7— 1,11,8,10,5,9,4,2,6,7
251—F— 1,11,5,10,8,4,9,6,2,7
Jol=5r= 1,11,5,4,10,6,9,8,7,2
40 —F— 11,1,4,5,6,9,10,7,8,2
[ /N
B OB 6 500 74K 6-11 570M & 6-8 1,840M & 4-6-11 750M
# B 6 140M 4-6 200 B = 6-11 1,770 3@ 6-11-4 8,760M
11 140 4-11 190 | | B & 6-11 4,240M
4 100

ABICOVWTRDTEEERROODE. TR LIV,




